






\



\
What should come at place of the question mark (?) in the following number series ?

11 . 17 , 98 , 26 , 89 , 35   ,   ?  

(A)80 (B)75 (C)60 (D)70 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

12 . 2 , 17 , 89 , 359 , 1079 , ?

(A)2269 (B)2159 (C)2834 (D)2765 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

13 . 3 , 5 , 15 , 45 , 113  , ?  

(A)222 (B)233 (C)243 (D)281 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

14 . 7 , 4.5 , 5.5 , 12 , 49  , ? 

(A)303 (B)363 (C)383 (D)393 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

15 . 3240 , , 540 , 108 , 27 , ? , 4.5 

(A) 9 (B)6 (C)7 (D)8 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

231 ÷ 11 × 11 + 421 − 147  = ?

(A)546 (B)616 (C) 416 (D)516 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

20% of 440 + 75% of 340 = ? + 260

(A)81 (B)63 (C)73 (D)83 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

324 + 643 + 452 + 287 − 632= ?

(A)1056 (B)1074 (C)1174 (D)1064 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

3876.5 ÷ 18.5 ÷ 3.2 = ?

(A) 68 (B)78 (C) 75 (D)65 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

24.5 % of 740 − ?% of 470 = 87.3

(A)20 (B)25 (C)19.5 (D)18.25 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

124 + 56 × 1.5 − 12= ?

(A) 190 (B) 252 (C)292 (D)196 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

√? = (78 × 148) ÷ 481

(A)484 (B)529 (C)576 (D)625 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

38.5 ÷ 5.25 × 12 − 4= ?

(A)84 (B)48 (C)40 (D)75 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

√4096 + √13456  = 75 × ?

(A)2.4 (B)3.8 (C)4.2 (D)5.5 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

√5929 + √729 = √10404 +?

(A)5 (B)11 (C)9 (D)7 (E)None of these



\Directions (Q. 16-20):-Direction for Question

Study the following data carefully to answer these questions.
प्रश्न के लिए लिरे्दश इि प्रश्नन ों के उत्तर रे्दिे के लिए लिम्नलिखित आँकडनों का ध्यािर्व क अध्ययि कीलिए।
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Q.16 :- The total number of epic and tragedy novels together is what percent of the 
total number of novels in the library? 
एलरकऔर ट्र ेिेडी िनवेल्सकी कुिसोंख्या, िाइबे्ररीकी कुि िनवेल्सकीसोंख्याकी लकतिे प्रलतशत
है ?

(A)24% (B)27% (C)31% (D)33% (E) None of these



\
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Q.17 :- If there is increase in Comedy and Tragedy by 5% and 10% what is the total 
number of books in library after increase?
यलर्द कॉमेडीऔर ट्र ेिेडी में 5% और 10% की वृखि हनती है, तन रुस्तकािय में रुस्तकनोंकी कुि
सोंख्या लकतिी बढ़ िाती है?

(A)66728 (B)67729 (C)67279 (D)67779 (E) None of these



\
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Q.18 :- Total number of Epic and Satire novels is what percent of total number of comedy 
and Drama novel? (approximately)
महाकाव्यऔरव्योंग्य उरन्यासन ोंकी कुि सोंख्या, हास्यऔर िाट्क उरन्यासन ोंकी कुि सोंख्या का
लकतिा प्रलतशत है? (िगभग )

(A)35% (B)40% (C)45% (D)50% (E) None of these



\
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Q.19 :- What is the respective ratio of Epic novels and Drama novels?

महाकाव्य उरन्यासन ोंऔर िाट्क उरन्यासन ोंका सोंबोंलित अिुरातक्या है?

(A)331 : 506 (B)323 : 566 (C)322 : 605 (D)333 : 637 (E) None of these



\
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Q.20 :- What is the average of total no. of books?

रुस्तकनोंकी कुि सोंख्या काऔसतक्या है?

(A)13.148 (B)13.138 (C)12.148 (D)12.138 (E) None of these



\Q.16 :-Meenu has some money. She can buy 40 books or 90 pens with it. She keeps 20% of  
the money for food and with the remaining buys 36 pens and some books. Find the number 
of books she buys.
मीि् के रास कुछ रैसे हैं। वह इससे 40 लकताबें या 90 रेििरीर्द सकती हैं। वह 20% रैसे िािे के
लिए रिती है और शेष के साथ 36 किमऔर कुछ लकताबें िरीर्दती है। उसके द्वारा िरीर्दी गई
रुस्तकनोंकी सोंख्या ज्ञातकीलिए।

(A)15 (B)14 (C)18 (D)16 (E)12



\Q.17:-A fruit vendor sells apples and oranges and gets equal revenue from each. He gets ma 
profit of 20% on each apple and a profit of 25% on each orange. If the ratio of the number 
of oranges sold to the number of apples sold is 3:2, what is the ratio of the cost price of an 
orange to that of an apple?
एकफि लवके्रता सेबऔरसोंतरे बेचता है और प्रते्यक से समाि रािस्वप्राप्तकरता है। उसे
प्रते्यक सेब रर 20% कािाभऔर प्रते्यकसोंतरे रर 25% कािाभ प्राप्तहनता है। यलर्द बेचे गए
सोंतरन ोंकी सोंख्याका बेचे गए सेबन ोंकी सोंख्या से अिुरात 3: 2 है, तन एकसोंतरे के िागत म्ल्यका
एक सेब के क्रय म्ल्य से अिुरातक्या है?

(A) 25:16 (B)16:25 (C)36:25 (D)49:36 (E)None of these



\Q.18 :- In how many ways can the walls of a cuboidal box be painted using six different m 
colours using one colour for each wall if six different symbols are carved on the box with 
one on each wall?
यलर्द प्रते्यक र्दीवार रर एक के साथछहअिग-अिगप्रतीकन ोंकन बॉक्सररउकेरा गया है, तन
प्रते्यकर्दीवार के लिए एक रोंगका उरयनगकरके छहअिग-अिगरोंगन ोंका उरयनगकरके एक
घिाकार बॉक्सकी र्दीवारन ोंकन लकतिे तरीकन ों से लचलित लकया िा सकता है ?

(A) 240 (B)560 (C)720 (D)360 (E)180



\Q.19 :- Rohit can row a boat 65Km upstream and 130Km downstream in 23 hours, whereas 
m he can swim 45Km upstream and 104Km downstream in 17 hours. Find the speed of 
boat in still water and the speed of stream.
रनलहत एकिावकन िारा के प्रलतक्ि 65 लकमीऔरिारा के अिुक्ि 130 लकमी 23 घोंटे् में तैर
सकता है, िबलकवह िारा के प्रलतक्ि 45 लकमीऔरिारा के अिुक्ि 104 लकमी 17 घोंटे् में तैर
सकता है। शाोंत ििमें िावकी गलतऔरिारा की गलत ज्ञातकीलिए।

(A)4km/h,9km/h (B)8km/h, 5km/h (C)9km/h, 4km/h (D)5km/h, 8km/h (E)10km/h, 3km/h



\Q.20 :- A box contains 4 red, 5 black and 6 green balls. 3 balls are drawn at random. What is 
the probability that all the balls are of same colour?
एकबॉक्समें 4 िाि, 5 कािीऔर 6 हरी गेंर्दें हनती हैं। 3 गेंर्दन ोंकन यादृखिकरूर से लिकिा लकया
गया हैक्या सोंभाविा है लकसभी गेंर्दें एक ही रोंग की हैं?

(A)33/455 (B)34/455 (C)44/455 (D)47/455 (E)None of these



\



\In a school number of students in 9th and 10th class is in the ratio 6:11. If 60% of total students 
in class 9th are boys and 52% of total students in class 10th are boys, then find total girls in 
both the class together is approximately what percentage of total students in both the classes?
9 वी ोंऔर 10 वी ोंकक्षा में लवद्यालथ यन ोंकी सोंख्या 6: 11 के अिुरात में है। यलर्दकक्षा 9 वी ोंमें कुि
लवद्यालथ यन ोंमें से 60% िडके हैं और 10 वी ोंकक्षा में कुि लवद्यालथ यन ों के 52% िडके हैं, तन र्दनिन ों
कक्षाओों में कुि िडलकयन ोंकी सोंख्या, र्दनिन ोंकक्षाओों में कुि लवद्यालथ यन ोंका िगभग लकतिा प्रलतशत
है?

(A)55.2% (B)45.2% (C)35.2% (D)27.5% (E)32%



\In an office some persons are officers and some are non-officer. The number of officers is 30. 
The average salary of officers is Rs.1040 and that of non-officers is Rs.400. If the average salary 
of entire staff in office (officers + Non officers) is Rs.500 per month, then what is the average of 
total number of employees (officers + Non - officers) in the office 
एककाया िय में कुछव्यखिअलिकारी हैं और कुछ गैर अलिकारी हैं। अलिकाररयन ोंकी सोंख्या 30 है।
अलिकाररयन ोंकाऔसत वेति 1040 रुरये है और गैर अलिकाररयन ोंका वेति 400 रुरये है। यलर्द
काया िय में सभीकम चाररयन ों ( अलिकाररयन ों+ गैर-अलिकाररयन ोंकाऔसत वेति 500 रुरये प्रलत माह
है, तन काया ियमें कम चाररयन ों (अलिकाररयन ों+ गैर-अलिकाररयन ों) की कुिसोंख्याकाऔसतक्या है?

(A)96 (B)76 (C)86 (D) 46 (E)None of these



\A work is started by a man and it is assumed that he will finish the work in 11 days if working 
alone. Each subsequent day a new man joined the work. In how many days the four times the 
original work will be completed, if after the 8th day from the starting of the work no new man 
will be further added?
एककाम एकआर्दमी द्वारा शुरू लकया िाता है और यह मािा िाता है लक वहअकेिे कामकरिे रर
11 लर्दिन ों में कामित्मकर रे्दगा। प्रते्यकबार्द के लर्दि एकियाआर्दमी काम में शालमि हुआ। प्रारों लभक
काय के चार गुिे काय कन लकतिे लर्दिन ों में र्रा लकया िाएगा, यलर्दकाय शुरू हनिे के 8 वें लर्दि के बार्द
कनई ियाआर्दमीआगे िही ोंिनडा िाएगा?

(A) 5 (B)6 (C)7 (D)8 (E)9



\Instead of normal weighing scale a shopkeeper used forged scale. He used 1.4 kg scale while 
buying and 840g scale while selling, what will his overall profit percentage, if in the end he 
offers 10% discount?
सामान्यतौि रैमािे के बिाय एक रु्दकािर्दार िािी रैमािे का उरयनगकरता है। उन्न ोंिे िरीर्दते
समय 1.4 लकिन से्किका इसे्तमाि लकयाऔर बेचते समय 840g रैमािे रर, उिका कुििाभ
प्रलतशतक्या हनगा, अगरअोंत में वह 10% छ्ट् प्रर्दािकरता है?

(A)30% (B)40% (C)50% (D) 60% (E)70%



\There are 3 points P, Q and R in a straight line, such that point Q is equidistant from points 
P and R. A man can swim from point P to R downstream in 24 hours and from Q to P 
upstream in 16 hours. Find the ratio of speed of man in still water to speed of stream?
एकसीिी रेिा में 3 लबोंरु्द P, Q औरR हैं, इस प्रकार लक लबोंरु्दQ, लबोंरु्द P औरR से समाि र््दरी रर है।
एकआर्दमी लबोंरु्द P से R अिुप्रवाहकीओर 24 घोंटे् में औरQ से P उर्ध् प्रवाह 16 घोंटे् में तैर सकता
है। शाोंत ििमें मिुष्यकी गलत तथा िारा की गलतका अिुरात ज्ञातकीलिए।

(A)1 : 7 (B) 2: 7 (C)7 : 1 (D) 7 : 2 (E)None of these



\Shilpa took a loan of Rs. 15,00,000 to purchase a car. The company charges compound 
interest at 20% per annum. She promised to make the payment after three years. But for 
the last year of loan tenure, the company increased the rate of interest by 25% from the 
previous one. Then the extra amount which she had to pay is what per cent of the amount of 
loan taken by her?
लशल्पा िे रुरये काऋण लिया।कारिरीर्दिे के लिए 15,00,000।कों रिी प्रलत वष 20% रर चक्रवृखिब्यािवस्िती है।
उसिे तीि साि बार्द भुगताि करिे का वार्दा लकया। िेलकिऋणकाय काि के अोंलतम वष के लिए, कों रिी िे लरछिे
एक सेब्यािर्दरकन 25% बढ़ा लर्दया। लफर उसे िन अलतररि रालश रे्दिी थी, वहउसके द्वारा लिए गएऋणकी रालशका
लकतिा प्रलतशत है?

(A)6.5 (B)7.2 (C)4.5 (D)5.2 (E)None of these



\|
A completes a work in 25 days working 8 hours a day. A started the work and worked for one day and 
next day B joined him who is twice as efficient as A. On next day C also joined them who is thrice as 
efficient as A and this process continues. In how many days total work will be completed if they work 4 
hour/day.
A लकसी काय कन 25 लर्दिन ों में करता है यलर्द वह प्रलतर्दि 8 घणे्ट काय करता है। A काय प्रारम्भकरता है और एक लर्दिकाय 
करता है तथा अगिे लर्दि B शालमि हन िाता है िन लक A से रु्दगुिा सक्षम है। अगिे लर्दि C की काय में शालमि हन िाता है
िन लक A का लतगुिा सक्षम है और यह प्रलक्रया इसी प्रकार चिती रहती है। कुि काय लकतिे लर्दिन ों में समाप्त हनगा यलर्द वे
एकसाथ लर्दि में 4 घणे्ट काय करते हैं।

(A)4 7/15days (B)5 5/7days (C)5 3/4days (D)6 1/2days (E)None of these



\|The bus fare for one person is Rs.420 from Haridwar to Haryana and the train fare between the same 
places for one person is equal to three fourths of the bus fare for two persons between the same 
places. What is the total fare paid by 3 persons travelling by bus and 4 persons travelling by train 
between the two places?
एकव्यखिका हररद्वार से हररयाणा बसका लकराया 420 रु. है और उन्ी ों स्थािन ों के बीच एकव्यखि
का ट्र ेि का लकराया र्दन व्यखियन ोंका उन्ी ों स्थािन ों के मध्य के बस के लकराये का तीि चौथाई है। 3
व्यखियनों द्वारा बसका अर्दा लकया गया लकराया तथा 4व्यखियनों द्वारा ट्र ेि का कुि लकराया ज्ञात
कीलिये ?

(A)3642 (B)4096 (C)2890 (D)3780 (E)None of these



\|The speed of a boat in still water is 16 km/hr. and the speed of the current is 2 km/hr. It takes a total of 
9.5 hours to row upstream from Point A to B and downstream from Point B to C. If the distance 
between Point A to C is one-third the distance between Point B to C, then what is the total distance 
covered by the boat from Point A to B and B to C?
एक िाव की खस्थर िि में चाि 16 लकमी./घोंट्ा है और िारा की चाि 2 लकमी./घोंट्ा है | यह लबोंरु्द A से
लबोंरु्द B तकऊर्ध् प्रवाह िािे में और लबोंरु्द B से लबोंरु्द C तकअिुप्रवाह िािे में कुि 9.5 घोंटे् िेती है। यलर्द
लबोंरु्द A से लबोंरु्द C के बीच की र््दरी लबोंरु्द B से लबोंरु्द C के बीच की र््दरी का एक लतहाई है, िाव द्वारा लबोंरु्द A 
से B और B से C तक तय की गयी कुि र््दरीक्या है ?

(A)136km (B)147km (C)129km (D)144km (E)None of these



\|
In a partnership A invest Rs. 34800 and was joined by B after 6 months with investment of Rs. 43500. 
After another 6 months C also joined them with investment of Rs. 58000. If after two years total profit 
of Rs. 25270 is obtained. Find the share of B.
एकसाझेर्दारी में A िे 34800 रूरये लिवेश लकये तथा 6 महीिन ों बार्द B, 43500 रूरये लिवेश के साथव्यारार में शालमि हुआ
औरअगिे 6 महीिें बार्द C भी 58000 रूरये के लिवेश के साथव्यारार में शालमि हुआ। यलर्द 2 वष के अन्तमें 25270 

रूरये का िाभ हुआ। B का लहस्सा ज्ञातकीलिए।

(A)7500 (B)76800 (C)8550 (D)8210 (E)None of these



\|Sanju covers 20 km distance with a speed of 5 km/h, then he covers the next 15 km with a speed of 3 
km/h and the last 10 km is covered by him with a speed of 2 km/h. Find out his average speed (in 
km/hr) for the whole journey. (Approx)
सोंि् िे 5 लकमी / घोंट्ा की गलत के साथ 20 लकमी की र््दरी तय की, लफर वह अगिे 15 लकिनमीट्र की
र््दरी 3 लकमी / घोंट्ा की रफ्तार से तय करता है औरआखिरी 10 लकमी की र््दरी 2 लकमी / घोंट्ा की
रफ्तार से तय की िाती है। र्री यािा के र्दौराि उसकीऔसत गलत (लकमी / घोंट्ा) में ज्ञात कीलिये।
(िगभग)

(A)4.28 (B)5.15 (C)2.96 (D)3.21 (E)3.67



\|In mahendra the average salary of the entire staff in a office is Rs 24000 per month.The average salary of 
officers is Rs 92000 and of non officers is Rs 22000. If the number of officers is 15, then find the no of 
non-officers in the office.
महेंद्रा के एककाया िय में र्रे स्टाफकाऔसत वेति 24,000 रुरये प्रलत माह है । अलिकाररयन ोंका
औसत वेति 92000 रुरये और गैर अलिकाररयन ोंकाऔसत वेति 22,000 रुरये है। यलर्द अलिकाररयन ों
की सोंख्या 15 है, तन काया िय में गैर-अलिकाररयन ोंकी सोंख्या ज्ञात कीलिये ।

(A)505 (B)610 (C)575 (D)476 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

11 . 18  , 22 , 40 , ? , 102 , 164

(A)60 (B)64 (C)63 (D)56 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

12 . 22 , 43 , 85 , ? , 232

(A)136 (B) 142 (C)124 (D)85 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

13 . 5 , 8 , 18 , 34 , ? , 138

(A) 85 (B)68 (C)70 (D)69 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

14 . 125 ,  170 , ? , 395 , 575 , 800

(A) 230 (B)225 (C)260 (D)250 (E)265



\
What should come at place of the question mark (?) in the following number series ?

15 . 196 , 221 , 257 , ? , 370 , 451

(A)340 (B)301 (C)320 (D) 306 (E)312



THANKS


